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Stand Alone Mcqs

1. Which of the following statements about the autotrophs is incorrect?

A.They synthesise carbohydrates from carbon dioxide and water in

the presence of sunlight and chlorophyll.

B. They store carbohydrates in the form of starch.

C.They convert carbon dioxide and water into carbohydrates in the

absence of sunlight.

D. They constitute the first trophic level in food chain


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Qfg76qtUct7n

Answer: C

° Watch Video Solution

2.In which of the groups of organisms the food material is broken down

outside the body and then absorbed ?

A. Mushroom, green plants, Amoeba

B. Yeast, mushroom, bread mould

C. Paramecium, Amoeba, Cuscuta

D. Cuscuta, lice, tapeworm

Answer: B

° Watch Video Solution

3. Which is the correct sequence of parts in human alimentary canal?


https://dl.doubtnut.com/l/_Qfg76qtUct7n
https://dl.doubtnut.com/l/_9bL4k9E2NCJg
https://dl.doubtnut.com/l/_b7KXcsdFsbAF

A.Mouth — stomach — small intestine — oesophagus —

large intestine

B. Mouth — oesophagus — stomach — large intestine —

small intestine

C.Mouth — stomach — oesophagus — small intestine —

large intestine

D. Mouth — oesophagus — stomach — small intestine —

large intestine

Answer: D

o Watch Video Solution

4.1f salivary amylase is lacking in the saliva, which of the following events

in the mouth cavity will be affected?

A. Proteins breaking down into amino acids


https://dl.doubtnut.com/l/_b7KXcsdFsbAF
https://dl.doubtnut.com/l/_FU1e1gICgAEj

B. Starch breaking down into sugars

C. Fats breaking down into fatty acids and glycerol

D. Absorption of vitamins

Answer: B

o Watch Video Solution

5.Select the correct statement.

A. Heterotrophs do not synthesise their own food.

B. Heterotrophs utilise solar energy for photosynthesis.

C. Heterotrophs synthesise their own food.

D. Heterotrophs are capable of converting carbon dioxide and water

into carbohydrates.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FU1e1gICgAEj
https://dl.doubtnut.com/l/_xh5XATPI4yJZ

6. The autotrophic mode of nutrition requires

A. carbon dioxide and water

B. chlorophyll

C.sunlight

D. all of these

Answer: D

o Watch Video Solution

7. The inner lining of stomach is protected by one of the following from

hydrochloric acid. Choose the correct one

A. Pepsin

B. Mucus

C. Salivary amylase


https://dl.doubtnut.com/l/_xh5XATPI4yJZ
https://dl.doubtnut.com/l/_FMLJ25uacyxf
https://dl.doubtnut.com/l/_VyaKUMPLrlgf

D. Bile

Answer: B

° Watch Video Solution

8. A few drops of iodone solution were added to rice water. The solution

turned blue-black in colour. This indicates that rice water contains

A. complex proteins

B. simple proteins

C.fats

D. starch

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VyaKUMPLrlgf
https://dl.doubtnut.com/l/_kIzf9dmqRbCW

9. The breakdown of pyruvate to give carbon dioxide, water and energy
takes place in
a) cytoplasm
b) mitochondria
c) chloroplast
d) nucleus
A. cytoplasm
B. mitochondria

C.chloroplast

D. nucleus

Answer: B

o Watch Video Solution

10. The correct sequence of anaerobic reactions in yeast is


https://dl.doubtnut.com/l/_uovOfprGQHNO
https://dl.doubtnut.com/l/_2SQwm3VxRNre

A. Glucose

B. Glucose

C. Glucose

D. Glucose

Answer: D

cytoplasm

e

cytoplasm

e

cytoplasm

—

cytoplasm

e

Pyruvate

Pyruvate

Pyruvate

Pyruvate

mitochondria L.
Ethanol + Carbon dioxide

cytoplasm . .
—— Lactic acid

mitochondria . .
Lactic acid

cytoplasm L.
—— Ethanol + Carbon dioxide

o Watch Video Solution

11. Which of the following statements (s) is (are) correct ?

(i) Pyruvate can be converted into ethanol and carbon dioxide by yeast

(ii) Fermentation takes place in aerobic bacteria

(iii) Fermentation takes place in mitochondria

(iv) Fermentation is a form of anaerobic respiration

A. (i) and (iii)

B. (ii) and (iv)

C. (i) and (iv)



https://dl.doubtnut.com/l/_2SQwm3VxRNre
https://dl.doubtnut.com/l/_wIlzyUjFgEoJ

D. (ii) and (iii)

Answer: C

° Watch Video Solution

12. During deficiency of oxygen in tissues of human beings , pyruvic acid is

converted into lactic acid in the

A. cytoplasm

B. chloroplast

C. mitochondria

D. golgi body

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wIlzyUjFgEoJ
https://dl.doubtnut.com/l/_pzzyG2foUprm

13. Which of the following completes the given equation? Glucose +

Oxygen — (?)

A. Only carbon dioxide + water + energy

B. Only carbon dioxide + water

C. Only carbon dioxide

D. Only water + energy

Answer: A

o Watch Video Solution

14. Which of the following take place after we exercise?

A. Out body needs more oxygen.

B. Our body needs to replace the energy used.

C. Our body needs to get rid of excess carbon dioxide.

D. All of these


https://dl.doubtnut.com/l/_Z5IhJ2u1CG9k
https://dl.doubtnut.com/l/_BpKTtisQlBAR

Answer: D

° Watch Video Solution

15. Which of these statements is correct about alveoli?

A.They form a very large surface area.

B. They have a very thin wall.

C. They are covered with blood capillaries.

D. All of these

Answer: D

° Watch Video Solution

16. As air passes through the nasal cavity, it is

A. Filtered in the nostrils


https://dl.doubtnut.com/l/_BpKTtisQlBAR
https://dl.doubtnut.com/l/_xEyXCerHGNXZ
https://dl.doubtnut.com/l/_ygKpHhXpvCnR

B. Moistened by mucus

C. Warmed to the body temperature

D. All of these

Answer: D

° Watch Video Solution

17. What prevents back flow of blood inside the heart during contraction?

A. Valves in heart

B. Thick muscular walls of ventricles

C. Thin walls of atria

D. All of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ygKpHhXpvCnR
https://dl.doubtnut.com/l/_PnVkeJrJCkWh
https://dl.doubtnut.com/l/_GorEXNNuzt6z

18. Single circulation ,i.e, blood flows through the heart only once during

one cycle of passage through the body, is exhibited by

A. Labeo, Chameleon, Salamander

B. Hippocampus, Exocoetus, Anabas

C. Hyla, Rana, Draco

D. Whale, Dolphin, Turtle

Answer: B

o Watch Video Solution

19. The blood leaving the tissues becomes richer in

A. carbon dioxide

B. water

C. haemoglobin

D. oxygen


https://dl.doubtnut.com/l/_GorEXNNuzt6z
https://dl.doubtnut.com/l/_fNnjcBTBsgd3

Answer: A

° Watch Video Solution

20.The xylem in plants are responsible for

A. transport of water

B. transport of food

C. transport of amino acids

D. transport of oxygen

Answer: A

o Watch Video Solution

21. Which of the following statement (s) is (are) true about heart?
(i) Left atrium receives oxygenated blood from different parts of body

while right atrium receives deoxygenated blood from body



https://dl.doubtnut.com/l/_fNnjcBTBsgd3
https://dl.doubtnut.com/l/_DkRgZd7yNVih
https://dl.doubtnut.com/l/_Yn4qSZFTgN4h

(i) Left ventricle pumps oxygenated blood to different body parts while
right ventricle pumps deoxygenated blood to lungs

(iii) Left atrium transfers oxygenated blood to right ventricle which sends
it to different body parts

(iv) Right atrium receives deoxygenated blood from different part of the
body while left ventricle pumps oxygenated blood to different parts of

the body

A. (i)

B. (i)

C. (i) and (iv)

D. (i) and (iii)

Answer: C

o Watch Video Solution

22. In which of the following vertebrate group/groups,heart does not

pump oxygenated blood to different parts of the body ?


https://dl.doubtnut.com/l/_Yn4qSZFTgN4h
https://dl.doubtnut.com/l/_R4rrQpPYo60v

A. Pisces and amphibians

B. Amphibians and reptiles

C. Amphibians only

D. Pisces only

Answer: D

o Watch Video Solution

23. Choose the correct statement that describes arteries.

A.They have thick elastic walls, blood flows under high pressure,

collect blood from different organs and bring it back to the heart.

B.They have thin walls with valves inside, blood flows under low

pressure and carry blood away from the heart to various organs of

the body.


https://dl.doubtnut.com/l/_R4rrQpPYo60v
https://dl.doubtnut.com/l/_giwm0sVN6gnc

C. They have thick elastic walls, blood flows under low pressure, carry

blood from the heart to various organs of the body.

D.They have thick elastic walls without valves inside, blood flows

under high pressure and carry blood away from the heart to

different parts of the body.

Answer: D

o Watch Video Solution

24. Which of these statements is correct about the function of blood?

A. It helps in transportation of respiratory gases.

B. It regulates body temperature.

C. It helps in transportation of waste products.

D. All the above

Answer: D


https://dl.doubtnut.com/l/_giwm0sVN6gnc
https://dl.doubtnut.com/l/_nuScTR1pRdwT

° Watch Video Solution

25. Thr filtration units of kidneys are called

A. ureter

B. urethra

C. neurons

D. nephrons

Answer: D

o Watch Video Solution

26.The kidneys in human beings are a part of the system for:

A. nutrition

B. respiration

C. excretion


https://dl.doubtnut.com/l/_nuScTR1pRdwT
https://dl.doubtnut.com/l/_FGosuJXFPNlX
https://dl.doubtnut.com/l/_PCHxCzoD5f9d

D. transportation

Answer: C

o Watch Video Solution

27. Match the words of Column (A) with that of Column (B)

SR | STy B

Phloem (i) | Excretion

MNephron (it} | Translocation of food
(i) | Clotting of blood
Platelets (iv) | Deoxygenated blood

QO|n|=|>

A. A -(ii), B - (i), C-(iv), D - (iii)

B. A - (iii), B - (ii), C(i), D - (iv)

C. A-(iv), B - (iii), C~(i), D~(i)

D. A<(i), B - (iv), C- (iii), D - (iv)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PCHxCzoD5f9d
https://dl.doubtnut.com/l/_BCIXfoSUQ2vB

28. Which of the following is the structural and functional unit of the

excretory system?

A. Neuron

B. Nephron

C. Alveolus

D. Both (A) and (B)

Answer: B

o Watch Video Solution

29. Choose the correct path of urine in our body

A.kidney — ureter — urethra — urinary bladder

B.kidney — urinary bladder — urethra — ureter

C.kidney — ureters — urinary bladder — urethra


https://dl.doubtnut.com/l/_BCIXfoSUQ2vB
https://dl.doubtnut.com/l/_wFJmZFPjT8JF
https://dl.doubtnut.com/l/_ULCHHJLaZe9O

D.urinary bladder — kidney — ureter — urethra

Answer: C

° Watch Video Solution

30. Which of the following substances are removed from blood in the

kidneys?

A. Water

B. Urea

C.Sodium

D. Ammonia

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ULCHHJLaZe9O
https://dl.doubtnut.com/l/_L6tQGLLHcDxI

31. Each nephron has a cup shaped upper end called , Which

contains a

A. Bowman's capsule, Ampulla

B. Capillaries, Bowman's capsule

C. Ampulla, Glomerulus

D. Bowman's capsule, Glomerulus

Answer: D

o Watch Video Solution

32. Which of the following is used artificially to remove nitrogenous waste

products from the blood?

A. Ventilator

B. Transfusion

C. Hemodialysis


https://dl.doubtnut.com/l/_bhT3qVgzFUFo
https://dl.doubtnut.com/l/_5Xpr8PNXYPTQ

D. Angiogram

Answer: C

° Watch Video Solution

Assertion And Reason Based Mcqs

1. Given below are assertion and reason.Point out if both are true with

reason being correct explanation,(A ) both true but reason is not correct

explanation ( B),assertion true but reason is wrong (C ) both are wrong (D
).
Assertion: Hcl converts pepsinogen into active enzyme pepsin
Reason : Pepsin converts proteins into proteoses and peptones
A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.


https://dl.doubtnut.com/l/_5Xpr8PNXYPTQ
https://dl.doubtnut.com/l/_dPmvGp8zSQDB

D. Ais false and R is true.

Answer: B

o Watch Video Solution

2. Assertion (A): Digestion breaks large complex molecules to simple
smaller molecules which can be easily absorbed.
Reason (R): Digestion is necessary for the absorption of all molecule
A.Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dPmvGp8zSQDB
https://dl.doubtnut.com/l/_mePtWgneKQhm
https://dl.doubtnut.com/l/_lHpM8aUxpGEV

3. Assertion (A): Muscles of stomach wall possess thick layers of muscle
fibers.
Reason (R): These muscles help in mixing the food with the enzymes
present in the alimentary canal.

A.Both Aand R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution

4. Assertion (A): Lipases help in emulsification of fats.

Reason (R): Lipases hydrolyses fats and oils.

A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,


https://dl.doubtnut.com/l/_lHpM8aUxpGEV
https://dl.doubtnut.com/l/_gWURxdpuotSV

C.Ais true but R is false.

D. Ais false and R is true.

Answer: D

° Watch Video Solution

5. Assertion (A): Photosynthesis is an anabolic process.

Reason (R): The process of photosynthesis occurs in chlorophyll.

A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gWURxdpuotSV
https://dl.doubtnut.com/l/_JeSmC6jOUaqp
https://dl.doubtnut.com/l/_P2ZHBNDgHrFU

6. Assertion (A): Energy is used during the process of respiration.

Reason (R): Respiration stores energy in the form of ATP.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: D

o Watch Video Solution

7. Assertion (A): Humans are not truly aerobic.

Reason (R): They produce lactic acid anaerobically.

A.Both Aand R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.


https://dl.doubtnut.com/l/_P2ZHBNDgHrFU
https://dl.doubtnut.com/l/_UEboKD6Gn307

D. Ais false and R is true.

Answer: B

o Watch Video Solution

8. Assertion : In mammals, complex respiratory system has developed.

Reason : Mammalian skin is impermeable to gases.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UEboKD6Gn307
https://dl.doubtnut.com/l/_jI1aU5QRL6VO

9. Assertion (A): Alveoli contain an extensive network of blood vessels.

Reason (R): Alveoli is the site where exchange of gases occurs.

A.Both A and R are true and R is the correct explanation of A.

B. Both Aand R are true but R is NOT the correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution

10. Assertion (A): The muscular walls of ventricles are thicker than
auricles.

Reason (R): This helps in preventing the back flow of blood.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,


https://dl.doubtnut.com/l/_n2xFAmiP1tJl
https://dl.doubtnut.com/l/_BPDkA9Lfh7rm

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution

11. Assertion : There is no mixing of oxygenated and deoxygenated blood

in the human heart.
Reason : Valves are present in the heart which allows the movement of
blood in one direction only.
A.Both A and R are true and R is the correct explanation of A.
B.Both A and R are true but R is NOT the correct explanation of A.
C.Ais true but R is false.

D. Ais false and R is true.

Answer: B



https://dl.doubtnut.com/l/_BPDkA9Lfh7rm
https://dl.doubtnut.com/l/_STo05wEcJwYP

l @ yvatch video Solution ]

12. Assertion (A): Valves are present in the arteries.

Reason (R): Arteries carry oxygenated blood from heart to different body

parts except pulmonary artery.

A.Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: D

o Watch Video Solution

13. Assertion (A): Plants have low energy needs.

Reason (R): Plant bodies have large proportion of dead cells.

A.Both A and R are true and R is the correct explanation of A.


https://dl.doubtnut.com/l/_STo05wEcJwYP
https://dl.doubtnut.com/l/_nr0ZrKLQmej1
https://dl.doubtnut.com/l/_mbJg6A8g5LLf

B.Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution

14. Assertion (A): Human body produces highly toxic substances, which if
not eliminated may cause the death.

Reason (R): Excretory substance removes nitrogenous waste from the

body.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_mbJg6A8g5LLf
https://dl.doubtnut.com/l/_ruOzD77XkoM0

Answer: B

° Watch Video Solution

15. Assertion (A): Excretory unit of kidneys are nephrons.

Reason (R): It has no role in secretion of urine.

A.Both A and R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution

16. Assertion:hemodialysis can save and prolong the life of uremic

patients


https://dl.doubtnut.com/l/_ruOzD77XkoM0
https://dl.doubtnut.com/l/_VdF0VAZ8ZKjI
https://dl.doubtnut.com/l/_iDV6s7ANTPj9

Reason: waste products like urea can be removed from the blood by the

process of hemodialysis.

A.Both Aand R are true and R is the correct explanation of A.

B. Both A and R are true but R is NOT the correct explanation of A,

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution

17. Assertion (A): In humans, major amount of water is absorbed by the
tubular part of nephron.
Reason (R): Absorption of water depends on the dissolved waste to be

excreted from the body.

A.Both Aand R are true and R is the correct explanation of A.

B.Both A and R are true but R is NOT the correct explanation of A,


https://dl.doubtnut.com/l/_iDV6s7ANTPj9
https://dl.doubtnut.com/l/_KpZWmM0NMIDw

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

° Watch Video Solution

Case Based Mcgs

1. Sanjana is suffering from a frequent stomach pain and vomiting. She

went to the Doctor. The doctor asked her to go for an ultrasound. In the
report, a stone was found in her gall bladder. Doctor asked her to remove
the gall bladder by operation. But she was reluctant to go for the
operation.

The role played by gall bladder in human body is

A. To store bile

B. To secrete bile


https://dl.doubtnut.com/l/_KpZWmM0NMIDw
https://dl.doubtnut.com/l/_2yw4XBDYE1wn

C. To emulsify fats

D. To digest fats

Answer: A

° Watch Video Solution

2. Sanjana is suffering from a frequent stomach pain and vomiting. She
went to the Doctor. The doctor asked her to go for an ultrasound. In the
report, a stone was found in her gall bladder. Doctor asked her to remove
the gall bladder by operation. But she was reluctant to go for the
operation.

Removal of gall bladder

A. affects the person's health

B. Has no effect on the person's health

C. Effects the secretion of bile

D. Effects the digestion of proteins


https://dl.doubtnut.com/l/_2yw4XBDYE1wn
https://dl.doubtnut.com/l/_zVU3ukY3GpAZ

Answer: B

o Watch Video Solution

3. Which of the following statement is correct about bile?

A. It helps in emulsification of fat.

B. It helps in digestion of carbohydrates

C. It helps in absorption of digested food.

D. It helps in egestion of undigested food.

Answer: A

o Watch Video Solution

4. Sanjana is suffering from a frequent stomach pain and vomiting. She
went to the Doctor. The doctor asked her to go for an ultrasound. In the

report, a stone was found in her gall bladder. Doctor asked her to remove


https://dl.doubtnut.com/l/_zVU3ukY3GpAZ
https://dl.doubtnut.com/l/_XhYXxbrayuDt
https://dl.doubtnut.com/l/_lFPobzahWZzp

the gall bladder by operation. But she was reluctant to go for the

operation.

Which part of alimentary canal receives bile from the liver?

A. Stomach

B. Small intestine

C. Large intestine

D. Oesophagus

Answer: B

o Watch Video Solution

5. Sanjana is suffering from a frequent stomach pain and vomiting. She
went to the Doctor. The doctor asked her to go for an ultrasound. In the
report, a stone was found in her gall bladder. Doctor asked her to remove
the gall bladder by operation. But she was reluctant to go for the
operation.

What is the function of bile salt in the intestine?


https://dl.doubtnut.com/l/_lFPobzahWZzp
https://dl.doubtnut.com/l/_Edy9KCbqeYCL

A. Activator of lipase

B. Emulsifier

C. Co factor of cholesteryl esterase

D. Inhibitor of lipid absorption

Answer: B

o Watch Video Solution

6. The given diagram is of human digestive human. Study the diagram

and answer any of the four questions.


https://dl.doubtnut.com/l/_Edy9KCbqeYCL
https://dl.doubtnut.com/l/_mHbqPURaHKZI

Which of these correctly represent the labels B,C,D and E?

A. B- Oesophagus, C- Liver, D- Stomach, E pancreas

B. B- Pancreas, C- oesophagus, D- Liver, E Stomach

C. B- Stomach, C- Pancreas, D- Oesophagus, E Liver

D. B- Liver, C- Stomach, D- Pancreas, E Oesophagus

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mHbqPURaHKZI
https://dl.doubtnut.com/l/_YEXDXt1oGvW3

7.The given diagram is of human digestive system. Study the diagram and

answer the question.

The secretion that is released by label C is:

A. Bile

B. Pepsin

C. Saliva

D. Gastric juice

Answer: A



https://dl.doubtnut.com/l/_YEXDXt1oGvW3

| Y Watch Video Solution

8. The given diagram is of human digestive human. Study the diagram

and answer any of the four questions.

Name the digestive juice that lacks enzyme but helps in digestion.

A. Bile juice

B. Pancreatic juice

C. Ptyalin


https://dl.doubtnut.com/l/_YEXDXt1oGvW3
https://dl.doubtnut.com/l/_AmvkelxCobIP

D. Pepsin

Answer: A

° Watch Video Solution

9. The given diagram is of human digestive system. Study the diagram

and answer any of the four questions.

The digestion of food starts in

A A


https://dl.doubtnut.com/l/_AmvkelxCobIP
https://dl.doubtnut.com/l/_Hrc0HatSjFcd

B.D

C.E

D.F

Answer: A

o Watch Video Solution

10. The given diagram is of human digestive human. Study the diagram

and answer any of the four questions.



https://dl.doubtnut.com/l/_Hrc0HatSjFcd
https://dl.doubtnut.com/l/_Iv7s5Mmg9PQa

In case of diarrhoea, which major process does not takes place normally

in region F?

A. Absorption of food

B. Absorption of water

C. Secretion of hormones

D. Removal of waste material

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Iv7s5Mmg9PQa

11. Study the given flow chart and answer any of the four questions
[tarbnhyd.rate

- P].rruv{u. acid

YN\
COy+HO  COy+ CHOH
+energy +energy

Identify X, Y and Z.

A. X-Glycolysis, Y-Anaerobic, Z-Aerobic

B. X-Krebs's cycle, Y-Aerobic, Z-Anaerobic

C. X-Glycolysis , Y-Aerobic, Z - Anaerobic

D. X-Glycolysis, Y-Aerobic, Z-Kreb's cycle

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_u9dvQsln47lf
https://dl.doubtnut.com/l/_eoRHkHmdFr7f

12. Study the given flow chart and answer any of the four questions

Carbohydrate

| Pyruvic acid

Y, L

COy+HO  COy+ C;H,OH
+energy +energy

The process X occurs in and Y occurs in part of cell.

A. Mitochondria and cytoplasm respectively
B. Cytoplasm and mitochondria respectively
C. Both takes place in cytoplasm

D. Both takes place in mitochondria

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eoRHkHmdFr7f

13. Study the given flow chart and answer any of the four questions

Carbohydrate
l:
Pyruvic acid

7\
CO+HO  COp+ CHOH
+energy +energy

In which of these organisms the process Z takes place?

A. Bacteria

B. Humans

C. Yeast

D. Spirogyra

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pCZHdxMzJm4H

14. Study the given flow chart and answer any of the four questions

Carbohydrate
l:
Pyruvic acid

/X
CO+HO  COy+ CyHLOH

+energy +enersy

In which part of human body do the process Z takes place?

A. In muscle cells

B. In kidneys

C.In liver cells

D. In leydig's cell

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_z7lIjasIkdxh

15. Study the given flow chart and answer any of the four questions

Carbohydrate
l::
Pyruvic acid

VX
COp+H O €O+ CHOH
+EeNergy +energy

Where does aerobic respiration occur in a cell ?

A. Mitochondria

B. Cytoplasm

C. Nucleus

D. Plastid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ybmlOYzxWdAT
https://dl.doubtnut.com/l/_oCTaVnYoP2YD

16. Study the diagram of human respiratory system and answer the given

question.

The balloon like structures present in 'S’ is:

A.Nephron

B. Alveoli

C. Bronchi

D. Bronchiole

Answer: B



https://dl.doubtnut.com/l/_oCTaVnYoP2YD

| ° Watch Video Solution

17. Study the diagram of human respiratory system and answer the given

question.

Which of these organ is surrounded by cartilaginous rings?

A P

B.Q

C.R


https://dl.doubtnut.com/l/_oCTaVnYoP2YD
https://dl.doubtnut.com/l/_3ieb9yIOJ4rv

D.S

Answer: C

° Watch Video Solution

18. Study the diagram of human respiratory system and answer the given

question.

Which of these statements is incorrect regarding human lungs?


https://dl.doubtnut.com/l/_3ieb9yIOJ4rv
https://dl.doubtnut.com/l/_9ZxtNWeJiOCl

A. It is the secondary organ for respiration.

B. It is located on the two sides of heart.

C. The membrane that encloses lungs is pleural membrane.

D. The alveolar epithelium of lungs is non-ciliated epithelium.

Answer: A

o Watch Video Solution

19. Study the diagram of human respiratory system and answer the given

question.


https://dl.doubtnut.com/l/_9ZxtNWeJiOCl
https://dl.doubtnut.com/l/_JPhjgKlaCDpE

Trachea is divided into two smaller tubes called

A. Bronchi

B. Bronchioles

C. Larynx

D. Alveoli

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JPhjgKlaCDpE
https://dl.doubtnut.com/l/_LRjzNEr6K1pB

20. Study the diagram of human respiratory system and answer the given

question.

Which of these is the function of balloon like structure present in lungs?

A. Exchange of gases

B. Absorption of nutrients

C. Transport of food

D. Removal of waste materials

Answer: A


https://dl.doubtnut.com/l/_LRjzNEr6K1pB

o Watch Video Solution

21. The given diagram represents the structure of a human excretory

system. Study the diagram and answer any of the four questions.

Identify the part 1in excretion.

A. Kidney

B. Ureter


https://dl.doubtnut.com/l/_LRjzNEr6K1pB
https://dl.doubtnut.com/l/_zB2lFNjX909R

C. Urethra

D. Nephron

Answer: B

o Watch Video Solution

22. The given diagram represents the structure of a human excretory

system. Study the diagram and answer any of the four questions.

Which of these is the structural and functional unit of part 2?


https://dl.doubtnut.com/l/_zB2lFNjX909R
https://dl.doubtnut.com/l/_2maCY8PJLjBA

A. Alveoli

B. Nephron

C. Neuron

D. None of these

Answer: B

o Watch Video Solution

23. The given diagram represents the structure of a human excretory

system. Study the diagram and answer any of the four questions.


https://dl.doubtnut.com/l/_2maCY8PJLjBA
https://dl.doubtnut.com/l/_03OA9wEsCJGo

How can we purify the blood by artificial methods?

A. Filtration

B. Dialysis

C. Reabsorption

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_03OA9wEsCJGo

24. The given diagram represents the structure of a human excretory

system. Study the diagram and answer any of the four questions.

The main waste present in the urine is:

A. Glucose

B. Urea

C.Blood


https://dl.doubtnut.com/l/_QdAEzYXndDIG

D. Protein

Answer: B

° Watch Video Solution

25. The given diagram represents the structure of a human excretory

system. Study the diagram and answer any of the four questions.


https://dl.doubtnut.com/l/_QdAEzYXndDIG
https://dl.doubtnut.com/l/_9C8fr79BGsSZ

Choose the correct path of urine in our body:

A.kidney — ureter — urethra — urinary bladder

B.kidney — urinary bladder — urethra — ureter

C.kidney — ureters — urinary bladder — urethra

D.urinary bladder — kidney — ureter — urethra

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_9C8fr79BGsSZ

26. Oxygen-rich blood from the lungs comes to the thin-walled upper
chamber of the heart on the left. The left upper chamber (A) then relaxes.
It then contracts and the blood is allowed to enter the next chamber (B),
as it expands. When the muscular left lower chamber of heart contracts
the blood is pumped out to the body via aorta.

Deoxygenated blood reaches from the body to the upper chamber on the
right side of heart (C) and it expands. As this part contracts, the
corresponding lower chamber (D) dilates. This transfers the blood to
right ventricle, which in turn pumps it to the lungs for oxygenated.

Which of these correctly represents the label AB,C and D in the above

passage?

A. A- Left atrium, B- Left Ventricle, C- Right atrium, D-Right ventricle

B. A- Right ventricle, B- Left atrium, C- Left Ventricle, D-Right atrium

C. A-Right atrium, B- Right ventricle, C- Left atrium, D- Left ventricle

D. A- Left ventricle, B- Right atrium, C- Right ventricle, D- Left atrium


https://dl.doubtnut.com/l/_9C8fr79BGsSZ
https://dl.doubtnut.com/l/_mElnn3rfJv6H

Answer: A

° Watch Video Solution

27. Oxygen-rich blood from the lungs comes to the thin-walled upper
chamber of the heart on the left. The left upper chamber (A) then relaxes.
It then contracts and the blood is allowed to enter the next chamber (B),
as it expands. When the muscular left lower chamber of heart contracts
the blood is pumped out to the body via aorta.

Deoxygenated blood reaches from the body to the upper chamber on the
right side of heart (C) and it expands. As this part contracts, the
corresponding lower chamber (D) dilates. This transfers the blood to
right ventricle, which in turn pumps it to the lungs for oxygenated.

Which chambers of human heart contain oxygenated blood?

A.Aand B

B.Aand C

C.CandB


https://dl.doubtnut.com/l/_mElnn3rfJv6H
https://dl.doubtnut.com/l/_aHkxUSlhqgJr

D.Cand D

Answer: A

o Watch Video Solution

28. Oxygen-rich blood from the lungs comes to the thin-walled upper
chamber of the heart on the left. The left upper chamber (A) then relaxes.
It then contracts and the blood is allowed to enter the next chamber (B),
as it expands. When the muscular left lower chamber of heart contracts
the blood is pumped out to the body via aorta.

Deoxygenated blood reaches from the body to the upper chamber on the
right side of heart (C) and it expands. As this part contracts, the
corresponding lower chamber (D) dilates. This transfers the blood to
right ventricle, which in turn pumps it to the lungs for oxygenated.

What is the correct route of blood in a human?

AAA —- B — Lungs - C — D

BA—- B — D — C — Lungs


https://dl.doubtnut.com/l/_aHkxUSlhqgJr
https://dl.doubtnut.com/l/_gZkW7yAoBPkm

¢c.C —- D — B — A — Lungs

D.C - D — Lung — A — B

Answer: D

o Watch Video Solution

29. Oxygen-rich blood from the lungs comes to the thin-walled upper
chamber of the heart on the left. The left upper chamber (A) then relaxes.
It then contracts and the blood is allowed to enter the next chamber (B),
as it expands. When the muscular left lower chamber of heart contracts
the blood is pumped out to the body via aorta.

Deoxygenated blood reaches from the body to the upper chamber on the
right side of heart (C) and it expands. As this part contracts, the
corresponding lower chamber (D) dilates. This transfers the blood to
right ventricle, which in turn pumps it to the lungs for oxygenated.

What prevents backflow of blood inside the heart during contraction?

A. Valves in heart


https://dl.doubtnut.com/l/_gZkW7yAoBPkm
https://dl.doubtnut.com/l/_vMk9ZMTzAjWW

B. Thick muscular walls of ventricles

C. Thin walls of atria

D. All of the above

Answer: A

o Watch Video Solution

30. Oxygen-rich blood from the lungs comes to the thin-walled upper
chamber of the heart on the left. The left upper chamber (A) then relaxes.
It then contracts and the blood is allowed to enter the next chamber (B),
as it expands. When the muscular left lower chamber of heart contracts
the blood is pumped out to the body via aorta.

Deoxygenated blood reaches from the body to the upper chamber on the
right side of heart (C) and it expands. As this part contracts, the
corresponding lower chamber (D) dilates. This transfers the blood to
right ventricle, which in turn pumps it to the lungs for oxygenated.

Assertion (A): Human heart does not allow mixing of oxygen rich blood


https://dl.doubtnut.com/l/_vMk9ZMTzAjWW
https://dl.doubtnut.com/l/_QhYIDWXAgfi8

with carbon dioxide rich blood.

Reason (R): Human heart has different chambers.

A.Both Aand R are true and R is correct explanation of the assertion.

B.Both A and R are true but R is not the correct explanation of the

assertion.

C.Ais true but R is false.

D. Ais false but R is true.

Answer: C

o Watch Video Solution

31. Some experiments were carried out using Croton sp. plants to
understand the process of photosynthesis. It was observed that the
leaves of the plant exposed to light for longer duration accumulated
more starch. However, due to presence of pre-formed starch in the leaves,
it was difficult to find the net productivity on a fixed exposure to light

source. Therefore, it was necessary to obtain starch free leaves in the


https://dl.doubtnut.com/l/_QhYIDWXAgfi8
https://dl.doubtnut.com/l/_0CkoFbxWbGBI

plant before starting the experiment.

Which of the following would help obtain starch free leaves in the plant?

A. Expose the leaves to blue light for 48 hours before starting the

experiment.

B. Keep the plant in dark for about 48 hours before starting the

experiment.

C.Remove starch from the leaves by exosmosis, 48 hours before

starting the experiment.

D.Keep the leaves to red light for 48 hours before starting the

experiment.

Answer: B

o Watch Video Solution

32. Some experiments were carried out using Croton sp. plants to

understand the process of photosynthesis. It was observed that the


https://dl.doubtnut.com/l/_0CkoFbxWbGBI
https://dl.doubtnut.com/l/_MSM3oqB1xSAd

leaves of the plant exposed to light for longer duration accumulated
more starch. However, due to presence of pre-formed starch in the leaves,
it was difficult to find the net productivity on a fixed exposure to light
source. Therefore, it was necessary to obtain starch free leaves in the
plant before starting the experiment.

After a period of illumination, the leaves were boiled in alcohol to make
them colourless. Which of the following could be used to test the end

product stored in the leaves?

A. Cobalt chloride paper

B. Litmus paper

C.lodine solution

D. Copper sulphate solution

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MSM3oqB1xSAd

33. Some experiments were carried out using Croton sp. plants to
understand the process of photosynthesis. It was observed that the
leaves of the plant exposed to light for longer duration accumulated
more starch. However, due to presence of pre-formed starch in the leaves,
it was difficult to find the net productivity on a fixed exposure to light
source. Therefore, it was necessary to obtain starch free leaves in the
plant before starting the experiment.

Some of the starch free leaves were coated with wax on both the
surfaces. The plant was maintained under normal environmental
conditions. At the end of the experiment, the wax coated leaves are likely

to show

A. Accumulation of more water.

B. Wilting of the wax coated leaves.

C. Increase in sucrose accumulation.

D. Decrease in number of chloroplasts

Answer: B

[ = |


https://dl.doubtnut.com/l/_wc6n0q6ZGHha

[ & Watch Video Solution ]

34. Some experiments were carried out using Croton sp. plants to
understand the process of photosynthesis. It was observed that the
leaves of the plant exposed to light for longer duration accumulated
more starch. However, due to presence of pre-formed starch in the leaves,
it was difficult to find the net productivity on a fixed exposure to light
source. Therefore, it was necessary to obtain starch free leaves in the
plant before starting the experiment.

During the morning hours, using a fine blade, an incision was made to the
leaves such that the phloem tissue was cut open. Analysis of the liquid

oozing out was found to contain high amount of:

A. Xylose

B. Ribose

C.Sucrose

D. Galactose

Answer: C


https://dl.doubtnut.com/l/_wc6n0q6ZGHha
https://dl.doubtnut.com/l/_Y6CMy5b8ODE0

o Watch Video Solution

35. Some experiments were carried out using Croton sp. plants to
understand the process of photosynthesis. It was observed that the
leaves of the plant exposed to light for longer duration accumulated
more starch. However, due to presence of pre-formed starch in the leaves,
it was difficult to find the net productivity on a fixed exposure to light
source. Therefore, it was necessary to obtain starch free leaves in the
plant before starting the experiment.

The equation given below represents photosynthesis. Identify P and Q.

sunlight

P + water ——— glucose + Q
chlorophyll

A. P-Carbon dioxide, Q - Oxygen

B. P- Oxygen, Q - Oxygen

C. P-Carbon dioxide, Q - Carbon dioxide

D. P- Oxygen, Q - Carbon dioxide

Answer: A



https://dl.doubtnut.com/l/_Y6CMy5b8ODE0
https://dl.doubtnut.com/l/_XFmdFs71ozxF

| o Watch Video Solution

Self Assessment 11 Objective Type Question A Multiple Choice Question

1. Which of the following is not the function of HCl in stomach?

A. It breaks down proteins into peptones.

B. It kills the becteria ingested with food and drinks.

C. It halps in activation of persinogen.

D. If softens the food.

Answer: D

° Watch Video Solution

2. Which of the following four secretions is correctly matched with its

source, and action?


https://dl.doubtnut.com/l/_XFmdFs71ozxF
https://dl.doubtnut.com/l/_IKn5FatyCXXx
https://dl.doubtnut.com/l/_PLP7JZFmWaD6

| i) | Salivary Salivary gland | Breaks down
amylase starch into
. . | B .
{li) | Rennin Stomach . Emulsification
L - of fat
| protein into
i amino acids.
{lv) | Lipase Pancreas Release of bile
Juice
A.iandii
B.iand iii
C.iiand iv
D.iii and iv
Answer:

° Watch Video Solution

3. Match the column I (Organs) with column Il (Functions) and choose the

correct options.


https://dl.doubtnut.com/l/_PLP7JZFmWaD6
https://dl.doubtnut.com/l/_HeqlO7sI0K3V

© LRk e
(1) Produces

A Nose sownd

B. Fharynx {lI) Traps bacteria and dust.

I:.Llrym lqm]l-hlp;hun:lw'#niguu _

D. Alveol | (IV) Allows food to pass from mouth o
oesophagus

A. A-(IV), B - (1), C-(111), D-(11)
B. A-(Il), B-(IV), C-(1), D- (111)
C. A-(11), B-(11), C-(1v), D-(1)

D. A<(1), B - (l11), C-(11), D~(1V)

Answer: B

o Watch Video Solution

Self Assessment 1 | Objective Type Question B Passage Diogram Based

Question



https://dl.doubtnut.com/l/_HeqlO7sI0K3V

1. Study the given fkow chart and answer the following answers.

Identify X, Y and Z.

A. X-Glycolysis, Y-Anaerobic, Z-Aerobic

B. X-Krebs's cycle, Y-Aerobic, Z-Anaerobic

C. X-Glycolysis, Y- Aerobic, Z- Anaerobic

D. X-Glycolysis, Y - Aerobic, Z-Krebs's cycle

Answer:

| ° Watch Video Solution


https://dl.doubtnut.com/l/_jLU5orkSaYxG

2. Study the given flow chart and answer the following answers.

The process X occurs in and Y occurs in part of cell?

o Watch Video Solution



https://dl.doubtnut.com/l/_jLU5orkSaYxG
https://dl.doubtnut.com/l/_P22cGjccBnBD

3. Study the given flow chart and answer the following answers.

| Carbohydrate
X
_ Pyruvicacid
Y
CO, +HO €O, + CHOH

+energy  + energy

Name an organism in which process Z takes place?

o Watch Video Solution



https://dl.doubtnut.com/l/_LPbdpKJu6al0

4. Study the given flow chart and answer the following answers.

Carbohydrate
X
_ Pyruvic acid
A §

CO,+HO (€O, + CHOH
+ eneTEY + energy

Where does process z takes place in human body?

o Watch Video Solution

Self Assessment 1 | Objective Type Question C Assertion And Reason Type

Questions



https://dl.doubtnut.com/l/_w859rYLjyhrc

1. (a) Both assertion (A) and (R) are true and reason (R) is the correct
explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the
correct explanation of assertion (A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true

Assertion (A) : Herbivores have larger small intestine as compared to
carnivores.

Rason (R) : Complete digestion of food takes places in small intestine.

o Watch Video Solution

2. (a) Both assertion (A) and (R) are true and reason (R) is the correct
explanation of assertion (A).

(b) Both assertion (A) and reason (R) are true but reason (R) is not the
correct explanation of assertion (A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true


https://dl.doubtnut.com/l/_MoL2DUXTriFQ
https://dl.doubtnut.com/l/_3SOs7VlD8EQe

Assertion (A) : Human beings are truly aerobic.

Reason (R) : They produce lactic acid from muscles.

° Watch Video Solution

3. Name a common nutrient that is absorbed in the small intestine and

reabsorded by the kidney tubules.

° Watch Video Solution

4. Mention any one point of difference between pepsin and trypsin.

° Watch Video Solution

5.Name the respiratory pigment in human beings. Where is this pigment

found ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3SOs7VlD8EQe
https://dl.doubtnut.com/l/_sLoCOMMIj2kz
https://dl.doubtnut.com/l/_Bfxg2SW822HH
https://dl.doubtnut.com/l/_2wzGar9hYBnn

Self Assessment 1 li Short Answer Type Questions D Very Short Answer Type

Question

1. Explain the processes of aerobic respiration in mitochondria of a cell
and anaerobic respiration in yeast and muscle with the help of word

equations.

° Watch Video Solution

2. A veriegated leaf with green and yellow patches in used for
photosynthesis. Before the experiment the green portions (A), and the
pale yellow portions (B), are observed. What will be the colour of ‘A" just
before and after the starch test? Also write the equation of photosyntesis
and mark, as well as validate form which molecule the by-product is

obtained.

° Watch Video Solution



https://dl.doubtnut.com/l/_h9pQaMoHX8vB
https://dl.doubtnut.com/l/_2e7LQ3zflnhg

3. Explain the ways in which glucose is broken down in absence of oxygen.

° Watch Video Solution

Self Assessment 2 | Objective Type Questions A Multiple Choice Questions

1. Which of the following statement is incorrect about artery?

A. It carries oxygenated blood from heart to different body parts.

B. It is also called collecting vessel.

C. It is thick, elastic and muscular.

D. It has no valves.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vsTsOFZpDFW0
https://dl.doubtnut.com/l/_a38LAB7UGwJf

2. the key orgen of, cerdiovascuar system which acts as a

muscular pump.

A. Kidney

B. Heart

C.Lungs

D. Stomach

Answer:

o Watch Video Solution

3. In aetifical kidney, which substance passes from the blood to the

dialysis fluid?

A. Urea

B. Ammonia

C. Uric acid


https://dl.doubtnut.com/l/_Sx5ThfGZF0QJ
https://dl.doubtnut.com/l/_7DEo9vP7T6ma

D. Creatinine

Answer:

° Watch Video Solution

Self Assessment 2 | Objective Type Questions B Passage Diagram Based

Questions

1. The given diagram represents the structure of a human excretory

system.


https://dl.doubtnut.com/l/_7DEo9vP7T6ma
https://dl.doubtnut.com/l/_Ddv8UBPhAY2w

B=d

What is the role of part 1in excretion?

° Watch Video Solution

2. The given diagram represents the structure of a human excretory

system.


https://dl.doubtnut.com/l/_Ddv8UBPhAY2w
https://dl.doubtnut.com/l/_6qZW5UOVZDAa

B-d

Name the structural and functional part of 2.

° Watch Video Solution

3. The given diagram represents the structure of a human excretory

system.


https://dl.doubtnut.com/l/_6qZW5UOVZDAa
https://dl.doubtnut.com/l/_USMgvWJqgrMm

4

The urge to urinate can be controlled. Give reason.

° Watch Video Solution

Self Assessment 2 | Objective Type Questions C Assertion And Reason Type

Questions

1. Assertion (A) : The main excretory unit of kidney is nephron.
Reason (R) : It carries out filtration, selective absorption and tubular

secretion to from urine in kidney.


https://dl.doubtnut.com/l/_USMgvWJqgrMm
https://dl.doubtnut.com/l/_GJnlb0EXRsNb

A.Both assertion (A) and (R) are true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are true but reason (R) is not the

correct explanation of assertion (A).

C. Assertion (A) is true but reason (R) is false.

D. Assertion (A) is false but reason (R) is true.

Answer:

o Watch Video Solution

2. The oxygenated and deoxygented blood is separate in the heart of
mammals.
Reason (R) : This allows efficient supply of oxygen to all tissues.

A. Both assertion (A) and (R) are true and reason (R) is the correct

explanation of assertion (A).


https://dl.doubtnut.com/l/_GJnlb0EXRsNb
https://dl.doubtnut.com/l/_usnecihUvdE3

B. Both assertion (A) and reason (R) are true but reason (R) is not the

correct explanation of assertion (A).

C. Assertion (A) is true but reason (R) is false.

D. Assertion (A) is false but reason (R) is true.

Answer:

° Watch Video Solution

Self Assessment 2 | Objective Type Questions D Very Short Answer Type

Questions

1. Name the component of blood which transport :
(i) Food, carbon dioxide and nitrogenous wastes

(i) Oxygen.

° Watch Video Solution



https://dl.doubtnut.com/l/_usnecihUvdE3
https://dl.doubtnut.com/l/_toi2F0VbbdNu

2. Why plants have low energy needs?

o Watch Video Solution

3. Mention the pathway of urine starting from the organ of its formation.

o Watch Video Solution

Self Assessment 2 li Short Answer Type Question

1. List three differences between arteries and veins.

° Watch Video Solution

Ncert Corner Intext Question


https://dl.doubtnut.com/l/_OprbStqto6mP
https://dl.doubtnut.com/l/_cYUe6bX5DR7j
https://dl.doubtnut.com/l/_ki6qCawisMor

1. Why is diffusion insufficient to meet the oxygen requirements of

multicelluar organisms like humans?

° Watch Video Solution

2. What criteria do we use to decide whether something is alive?

° Watch Video Solution

3. What processes would you consider essential for maintaining life?

° Watch Video Solution

4. What are the differences between autotrophic nutrition and

heterotrophic nutrition?

° Watch Video Solution



https://dl.doubtnut.com/l/_H7jhbcNN7OxB
https://dl.doubtnut.com/l/_0L1haGfoZwHy
https://dl.doubtnut.com/l/_EAg2b4g3rfJN
https://dl.doubtnut.com/l/_8B3Ez7BA865K
https://dl.doubtnut.com/l/_OVUncbomU5Di

5. Where plants get each each of the raw materials required for

photosyntesis?

o Watch Video Solution

6. What is the role of the acid in our stomech?

o Watch Video Solution

7.What is the function of digestive enzymes?

o Watch Video Solution

8. How is the small intestine designed to absorb digested food?

o Watch Video Solution



https://dl.doubtnut.com/l/_OVUncbomU5Di
https://dl.doubtnut.com/l/_DvEBvI0o5l8r
https://dl.doubtnut.com/l/_Ja535wm59aPy
https://dl.doubtnut.com/l/_e6dCbXJYLj3T

9. What advantage over an aquatic organism does a terrestrial organism

have with regard to obtaining oxygen for respiration?

° Watch Video Solution

10. What are the different ways in which glucose is oxidised to provide

energy in various organisms?

° Watch Video Solution

11. How is oxygen and carbon dioxide transported in human beings?

° Watch Video Solution

12. How are the lungs designed in human beings to maximise the area for

exchange of gases?

° Watch Video Solution



https://dl.doubtnut.com/l/_hgjP2BoDofSg
https://dl.doubtnut.com/l/_z8LHrTiutcU0
https://dl.doubtnut.com/l/_wLW8MVOVYole
https://dl.doubtnut.com/l/_1Uzl8KnPvPkJ

13. What are the components of the transport system in human beings?

What are the functions of these components?

° Watch Video Solution

14. Why is it necessary to separate oxygenated and deoxygenated blood

in mammals and birds?

° Watch Video Solution

15. What are the components of the transport system in highly organised

plants?

° Watch Video Solution

16. How are water and minerals transported in plants?

e @ l


https://dl.doubtnut.com/l/_1Uzl8KnPvPkJ
https://dl.doubtnut.com/l/_f81H1vZVpMDb
https://dl.doubtnut.com/l/_utk3EOKP1gwa
https://dl.doubtnut.com/l/_wbbdk2UAWyb7
https://dl.doubtnut.com/l/_ls5QZEscwGoP

| ¥ Vvatch Video Solution |

17. How is food transported in plants?

o Watch Video Solution

18. Describe the structure and functioning of nephrons.

o Watch Video Solution

19. What are the methods used by plants to get rid of excretory products?

o Watch Video Solution

20. How is the amount of urine produced regulated?

o Watch Video Solution



https://dl.doubtnut.com/l/_ls5QZEscwGoP
https://dl.doubtnut.com/l/_6Yb8lVXwzaku
https://dl.doubtnut.com/l/_yXT8MpevXXWA
https://dl.doubtnut.com/l/_83LMsvXk31KW
https://dl.doubtnut.com/l/_n08qOV51EMKE

Exercise Questions

1. The kidneys in huuman beings are a part of the system for

A. nutrition

B. respiration

C. excretion

D. transportation

Answer: C

° Watch Video Solution

2.The xylem in plants are responsible for

A. transport of water

B. transport of food

C. transport of amino acids


https://dl.doubtnut.com/l/_1NpWbuRfvkbF
https://dl.doubtnut.com/l/_93Ag0ngmU1TA

D. transport of oxygen

Answer: A

° Watch Video Solution

3. The autotrophic mode of nutrition requires :

A. carbon dioxide

B. chlorophyll

C.sunlight

D. all these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_93Ag0ngmU1TA
https://dl.doubtnut.com/l/_PmbIhIilOy9d

4. The breakdown of pyruvate to give carbon dioxide, water and energy

takes place in

A. cytoplasm

B. mitochondria

C. chloroplast

D. nucleus

Answer: B

o Watch Video Solution

5. How are fats digested in our bodies? Where does this process take

place?

o Watch Video Solution

6. What is the role of saliva in the digestion of food?


https://dl.doubtnut.com/l/_Bu0inhVfAYAC
https://dl.doubtnut.com/l/_bG3bp8TejgqW
https://dl.doubtnut.com/l/_pq0nNsTZlXWK

° Watch Video Solution

7. What are the necessary conditions for autotrophic nutrition and what

are its by products?

° Watch Video Solution

8. What are the differences between aerobic and anaerobic respiration?

Name some organisms that use the anaerobic mode of respiration.

° Watch Video Solution

9. How are the alveoli designed to maximise the exchange of gases?

° Watch Video Solution



https://dl.doubtnut.com/l/_pq0nNsTZlXWK
https://dl.doubtnut.com/l/_f7Whn0ck5Og9
https://dl.doubtnut.com/l/_yKf6bSdwvbpN
https://dl.doubtnut.com/l/_WQg5jvdltUBd

10. What would be the consequences of a dificiency of haemoglobin in

our bodies?

° Watch Video Solution

11. Describe double circulation in human beings. Why is it necessary?

° Watch Video Solution

12. What are the differences between the transport of materials in xylem

and phloem?

° Watch Video Solution

13. Compare the functioning of alveoli in the lungs and nephrons in the

kidney with respect to their structure and functioning.

° Watch Video Solution



https://dl.doubtnut.com/l/_lbDE9kkkbzbZ
https://dl.doubtnut.com/l/_X3aCmsQoFX3X
https://dl.doubtnut.com/l/_WJlbjAL3kwop
https://dl.doubtnut.com/l/_fWRwFmJiRjx4

Ncert Exemplar Multiple Choice Questions

1. Which of the following statements about the autotrophs is incorrect?

A.They synthesise carbohydrates from carbon dioxide and water in
the presence of sunlight and chlorophyll

B. They store carbohydrats in the form of starch

C.They convert carbon dioxide and water into carbohydrates in the
absence of sunlight

D. They constitute the first trophic level in food chains

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fWRwFmJiRjx4
https://dl.doubtnut.com/l/_YQRPxrTSQZpu

2.In which of the groups of organisms the food material is broken down

outside the body and then absorbed ?

A. Mushroom, green plants, Amoeba

B. Yeast, mushroom,bread mould

C. Paramecium, Amoeba, Cuscuta

D. Cuscuta, lice, tapeworm

Answer: B

o Watch Video Solution

3. Select the correct statement.

A. Heterotrophs do not syntesise their own food.

B. Heterotrophs utilise solar energy for photosynthesis.

C. Heterotrophs synthesise their own food.


https://dl.doubtnut.com/l/_ZO7dVQdnbN36
https://dl.doubtnut.com/l/_BMZQGecAcIIe

D. Heterotrophs are capable of converting carbon dioxide and water

into carbohydrates.

Answer: A

° Watch Video Solution

4. Which is the correct sequence of parts in human alimentary canal?

A.Mouth - stomach - small intestine — oesophagus - large

intestine

B. Mouth-oesophagus stomach — large intestine — small intestine

C. Mouth - stomach - oesophagus — small intestine — large

intestine

D. Mouth — oesophagus — stomach — small intestine — large

intestine

Answer: D


https://dl.doubtnut.com/l/_BMZQGecAcIIe
https://dl.doubtnut.com/l/_j0B5GpLDXi5R

o Watch Video Solution

5.If salivary amylase is lacking in the saliva, which of the following events

in the mouth cavity will be affected?

A. Proteins breaking down into amino acids

B. Starch breaking down into sugars

C. Fats breaking down into fatty acids and glycerol

D. Adsorption of vitamins

Answer: B

o Watch Video Solution

6. The inner lining of stomach is protected by one of the following from

hydrochloric acid. Choose the correct one

A. Pepsin


https://dl.doubtnut.com/l/_j0B5GpLDXi5R
https://dl.doubtnut.com/l/_T36iUSiQjIFP
https://dl.doubtnut.com/l/_KsrkWMAd228Z

B. Mucous

C.Salivary anylase

D. Bile

Answer: B

° Watch Video Solution

7.Which part of alimentry canal receives bile from the liver?

A. Stomach

B. Small intestine

C. Large intestine

D. Oesophagus

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KsrkWMAd228Z
https://dl.doubtnut.com/l/_LwH8qflZIino
https://dl.doubtnut.com/l/_u4P0wpQ8KhYA

8. A few drops of iodone solution were added to rice water. The solution

turned blue-black in colour. This indicates that rice water contains

A. complex proteins

B. simple proteins

C. fats

D. starch

Answer: D

o Watch Video Solution

9.In which part of the alimentary canal food is finally digested?

A. Stomach

B. Mouth cavity

C. Large intestine

D. Small intestine


https://dl.doubtnut.com/l/_u4P0wpQ8KhYA
https://dl.doubtnut.com/l/_zGyvpUJCADox

Answer: D

o Watch Video Solution

10. Choose the function of the pancreatic juice from the following

A. Trypsin digests proteins and lipase carbohydrates.

B. Trypsin digests emulsified fats and lipase proteins.

C. Trypsin and lipase digest fats.

D. Trypsin digests proteins and lipase emulsified fats.

Answer: D

o Watch Video Solution

11. When air is blown from mouth into a test - tube containing lime water,

the lime water turned milky due to the presence of


https://dl.doubtnut.com/l/_zGyvpUJCADox
https://dl.doubtnut.com/l/_OGamo5Y5EoMU
https://dl.doubtnut.com/l/_R05FDYtiHV28

A. oxygen

B. carbon dioxide

C. nitrogen

D. water vapour

Answer: B

o Watch Video Solution

12. The correct sequence of anaerobic reactions in yeast is

eytoplasm mitochondria

A. Glucose —— Pyruvate ——— Ethonol 4+ Carbon dioxide

cytoplasm cytoplasm . .
B. Glucose ——— Pyruvate ——— Ethonol + Lactic acid

cytoplasm mitochondria

C. Glucose — Pyruvate —— Ethonol + Lactic acid

cytoplasm cytoplasm L.
D. Glucose — Pyruvate ——— Ethonol + Carbon dioxide

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_R05FDYtiHV28
https://dl.doubtnut.com/l/_MRkEDwbgDCHH

13. Which of the following is most appropriate for aerobic respiration ?

mitochondria cytoplasm

A. Glucose ———— puruvate ———— COy + H,0 + Energy

cytoplasm mitochondria

B. Glucose ——— puruvate ——— COy + H,0 + Energy

cytoplasm mitochondria

C. Glucose — puruvate + Energy —— COy + H50

cytoplasm mitochondria

Glucose —— puruvate + Energy ——— CO5 + H50 + Energ

Answer: D

o Watch Video Solution

14. Which of the following statements are true about respiration ?
(i) during inhalation, ribs move inward and diaphragm is raised

(ii) the gaseous exchange takes place in the alveoli

(iii) haemoglobin has greater affinity for carbon dioxide than oxygen

(iv) alveoli increase surface area for the exchange of gases


https://dl.doubtnut.com/l/_MRkEDwbgDCHH
https://dl.doubtnut.com/l/_FKvKil5Arnmc
https://dl.doubtnut.com/l/_qTv3KDvIBbjZ

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (iii)

D. (ii) and (iv)

Answer: D

o Watch Video Solution

15. Which is the correct sequence of air passage during inhalation ?

A. Nostrils — larynx — pharynx — trachea — lungs

B. Nasal passage — tracheapharynx — larynx — alveoli

C. Larynx — nostrils - pharynx — lungs

D. Nostrils — pharynx — larynx — trachea — alveoli

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qTv3KDvIBbjZ
https://dl.doubtnut.com/l/_8j5i6J25RfkZ

16. During respiration exchange of gases take place in

A. trachea and larynx

B. alveoli of lungs

C. alveoli and throat

D. throat and larynx

Answer: B

o Watch Video Solution

17. Which of the following statement (s) is (are) true about heart?

(i) Left atrium receives oxygenated blood from different parts of body
while right atrium receives deoxygenated blood from lungs

(i) Left ventricle pumps oxygenated blood to different body parts while
right ventricle pumps deoxygenated blood to lungs

(iii) Left atrium transfers oxygenated blood to right ventricle which sends


https://dl.doubtnut.com/l/_8j5i6J25RfkZ
https://dl.doubtnut.com/l/_jLU7iEd6HSd3
https://dl.doubtnut.com/l/_eZP0PkBwnmDy

it to different body parts
(iv) Right atrium receives deoxygenated blood from different part of the

body while left ventricle pumps oxygenated blood to different parts of

the body
A. (i)
B. (ii)
C. (ii) and (iv)
D. (i) and (iii)
Answer: C

o Watch Video Solution

18. What prevents backflow of blood inside the heart during contraction?

A. Valves in heart
B. Thick muscular walls of ventricles

C. Thin walls of atria


https://dl.doubtnut.com/l/_eZP0PkBwnmDy
https://dl.doubtnut.com/l/_IuRclBxmEuXJ

D. All of the above

Answer: A

° Watch Video Solution

19. Single circulation ,i.e, blood flows through the heart only once during

one cycle of passage through the body, is exhibited by

A. Labeo, Chameleon, Salamander

B. Hippocampus, Exocoetus, Anabas

C. Hyla, Rana, Draco

D. Whale, Dolphin, Turtle

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IuRclBxmEuXJ
https://dl.doubtnut.com/l/_edAp0pX0SCMK

20. In which of the following vertebrate group/groups,heart does not

pump oxygenated blood to different parts of the body ?

A. Pisces and amphibians

B. Amphibians and reptiles

C. Amphibians only

D. Pisces only

Answer: D

o Watch Video Solution

21.Choose the correct statement that describes arteries.

A.They have thick elastic walls, blood flows under high pressure,

collect blood from different organs and bring it back to the heart.

B.They have thin walls with valves inside, blood flows under low

pressure and carry blood away from the heart to various organs of


https://dl.doubtnut.com/l/_dl3yyx64tSG7
https://dl.doubtnut.com/l/_C1MzeapaGnJn

the body.

C. They have thick elastic walls, blood flows under low pressure, carry

blood from the heart to various organs of the body.

D.They have thicjk elastic walls without vlaves inside, blood flows

under hagh pressure and carry blood away form the heart to

different parts of the body.

Answer: D

° Watch Video Solution

22. Thr filtration units of kidneys are called

A. ureter

B. urethra

C. neurons

D. nephrons


https://dl.doubtnut.com/l/_C1MzeapaGnJn
https://dl.doubtnut.com/l/_RTlNu8YseQAF

Answer: D

° Watch Video Solution

23. Oxygen liberated during photosynthesis comes from

A. water

B. chlorophyll

C. carbon dioxide

D. glucose

Answer: A

° Watch Video Solution

24.The blood leaving the tissues becomes richer in

A. carbon dioxide


https://dl.doubtnut.com/l/_RTlNu8YseQAF
https://dl.doubtnut.com/l/_WY2rBPHzJz0P
https://dl.doubtnut.com/l/_KKoC4csiWspa

B. water

C. haemoglobin

D. oxygen

Answer: A

° Watch Video Solution

25. Which of the following is an incorrect statement?

A. Organisms grow with time

B. Organisms must repair and maintain their structure

C. Movement of molecules does not take place among cells

D. Energy is essential for life processes

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KKoC4csiWspa
https://dl.doubtnut.com/l/_I9KePvqAQN7i
https://dl.doubtnut.com/l/_yNvztSNT8sgv

26. The internal (cellular) energy reserve in autotrophs is

A. glycogen

B. protein

C.starch

D. fatty acid

Answer: C

o Watch Video Solution

27. Which of the following equations is the summary of photosynthesis ?

A. 6002 + 12H20 — 06H1206 + 602 + 6H20

B. 6002 + H20 — Sunlight — 06H1206 + 02 + 6H20

6C Oy + 12H50 + Chlorophyll + Sunlight — CgH1504 + 605 + 6H.


https://dl.doubtnut.com/l/_yNvztSNT8sgv
https://dl.doubtnut.com/l/_aVbbXs6sFc4D

6C Oy + 12H50 + Chlorophyll + Sunlight — CgH1504 + 6CO5 + 6.

Answer: C

° Watch Video Solution

28. Choose the event that does not occur in photosynthesis.

A. Absorption of light energy by chlorophyll

B. Reduction of carbon dioxide to carbohydrates

C. Oxidation of carbon to carbon dioxide

D. Conversion of light energy to chemical energy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aVbbXs6sFc4D
https://dl.doubtnut.com/l/_7nSNz2vmp0Li

29.The opening and closing of the stomatal pore depends upon

A. oxygen

B. temperature

C. water in guard cells.

D. concentration of CO, in stomata.

Answer: C

o Watch Video Solution

30. Choose the forms in which most plants absorb nitrogen
(i) Proteins ,(ii) Nitrates and Nitrites
(iii) Urea

(iv) Atmospheric nitrogen

A. (i) and (ii)

B. (ii) and (iii)


https://dl.doubtnut.com/l/_WpRSgME7AFbC
https://dl.doubtnut.com/l/_uNxnbZNJMQWc

C. (iii) and (iv)

D. (i) and (iv)

Answer: B

° Watch Video Solution

31. Which is the first enzyme to mix with food in the digestive tract ?

A. Pepsin
B. Cellulase

C. Amylase

D. Trypsin digests proteins and lipase emulsified fats.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uNxnbZNJMQWc
https://dl.doubtnut.com/l/_Qq21ufNvcPFo

32. Which of the following statement(s) is (are) correct?
(i) Pyruvate can be converted into ethanol and carbon dioxide by yeast
(ii) Fermentation takes place in aerobic bacteria
(iii) Fermentation takes place in mitochondria
(iv) Fermentation is a form of anaerobic respiration
A. (i) and (iii)
B. (ii) and (iv)
C. (i) and (iv)

D. (ii) and (iii)

Answer: C

o Watch Video Solution

33. Lack of oxygen in muscles often leads to cramps among cricketers.

This results due to


https://dl.doubtnut.com/l/_x4OZdyi92FrW
https://dl.doubtnut.com/l/_vjub66I2zWPA

A. conversion of pyruvate to ethanol

B. conversion of pyruvate to glucose

C. non conversion of glucose to pyruvate

D. conversion of pyruvate to lactic acid

Answer: D

o Watch Video Solution

34. Choose the correct path of urine in our body

A.kidney — ureter — urethra — urinary bladder

B. kidney — urinary — bladder — urethra — ureter

C.kidney — ureter — urinary — bladder — urethra

D. urinary bladder — kidney — ureter — urethra

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vjub66I2zWPA
https://dl.doubtnut.com/l/_UUP9A6r1e2qi

35. During deficiency of oxygen in tissues of human beings , pyruvic acid is

converted into lactic acid in the

A. cytoplasm

B. chloroplast

C. mitochondria

D. golgi body

Answer: A

o Watch Video Solution

Ncert Exemplar Short Answer Questions Name The Following

1. The process in plants that links light energy with chemical energy

o Watch Video Solution



https://dl.doubtnut.com/l/_UUP9A6r1e2qi
https://dl.doubtnut.com/l/_ped3goabAea8
https://dl.doubtnut.com/l/_dOn8xmJMhBTb

2.Organisms that can prepare their own food

o Watch Video Solution

3. Name the organelle of plant cells in which photosynthesis occurs

o Watch Video Solution

4.The cells surrounding the stomatal pore are

o Watch Video Solution

5. Organisms that cannot prepare their own food

o Watch Video Solution



https://dl.doubtnut.com/l/_dVC7G4WWnybj
https://dl.doubtnut.com/l/_Mi7DnMbRo5KC
https://dl.doubtnut.com/l/_h1TlfJPJlt1n
https://dl.doubtnut.com/l/_TLMBbmQhBaXo

6. An enzyme secreted from gastric glands in stomach that acts on

proteins.

° Watch Video Solution

7. All plants give out oxygen during day carbon dioxide during night . Do

you agree with this statement ? Give reason

° Watch Video Solution

8. How do the guard cells regulate opening and closing of stomatal pores

?

° Watch Video Solution

9. Two green plants are kept separately in oxygen free containers, one in

the dark and the other in continuous light . Which one will live longer ?

| e |


https://dl.doubtnut.com/l/_Smr8ZdISeQYu
https://dl.doubtnut.com/l/_x2SmKpDM4tZt
https://dl.doubtnut.com/l/_7iBmhrh4XMyg
https://dl.doubtnut.com/l/_agfhqiaWqkzT

| & Watch Video Solution I

10. If a plant is releasing carbon dioxide and taking in oxygen during the
day, does it mean that there is no photosynthesis occurring ? Justify your

answer.

° Watch Video Solution

11. Why do fish die when taken out of water ?

° Watch Video Solution

12. Differentiate between an autotroph and a heterotroph.

° Watch Video Solution

13.1Is 'nutrition a necessity for an organism ? Discuss.

s I


https://dl.doubtnut.com/l/_agfhqiaWqkzT
https://dl.doubtnut.com/l/_1IiJPA6AO8c7
https://dl.doubtnut.com/l/_W3OSaQtyUlaz
https://dl.doubtnut.com/l/_ZmVUd6eDUMJB
https://dl.doubtnut.com/l/_G1iyYkNqjv1C

| ¥ Vvatch Video Solution |

14. What wuold happen if green plants disappear from earth ?

° Watch Video Solution

15. Leaves of a healthy potted plant were coated with vaseline . Will this

plant remain healthy for long ? Give reasons for your answer.

° Watch Video Solution

16. How does aerobic respiration differ from anaerobic respiration ?

° Watch Video Solution



https://dl.doubtnut.com/l/_G1iyYkNqjv1C
https://dl.doubtnut.com/l/_HoVk2VAEAffl
https://dl.doubtnut.com/l/_BUaJDA006hLC
https://dl.doubtnut.com/l/_B4VDwudlEKtN

17. Match the words of cloumn (A) with that of Column (B)

A | Phloem (I} | Excretion
I B 1 Nephron [Ill Tl'lnlln:lllnnnlhnd
l C : Veins [llil Clotting of blood |
D

- Platelets Hrl E:mrgnuhd blood

° Watch Video Solution

18. Differentiate between an artery and a vein.

° Watch Video Solution

19. What are the adaptations of leaf for photosynthesis ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tvbPZEqfXpcN
https://dl.doubtnut.com/l/_eM2ZCwZDbsaI
https://dl.doubtnut.com/l/_zkicHJDFCcOc

20. (a) Why is small intestine in herbivores longer than in carnivores ?

(b) What causes movement of food inside the alimentary canal?

° Watch Video Solution

21. What will happen if mucus is not secreted by the gastric glands ?

° Watch Video Solution

22. What is the significance of emulsification of fats ?

° Watch Video Solution

23. What causes movement of food inside the alimentary canal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QU0sMQ5TQ1wm
https://dl.doubtnut.com/l/_LSRCxafRfGjp
https://dl.doubtnut.com/l/_IRx7KZmsoUwc
https://dl.doubtnut.com/l/_f9zErd2ZHfev

24. Why does absorption of digested food occur mainly in the small

intestine ?

o Watch Video Solution

25. Match Group (A) with Group (B)

i L -1
o

I
|

A Autotrophic nutrition (1) Leech

B Heterotrophic () Paramecium

O Parasitic nutrition _{lﬂl Dewr

D Digestion in food liw] Green plant
vacuoles

o Watch Video Solution

26. Why is the rate of breathing in aquatic organisms much faster than in

terrestiral organisms ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mvb2rn1RgS4C
https://dl.doubtnut.com/l/_7ZHUJ6TiQ6vh
https://dl.doubtnut.com/l/_58wnh8PvdOc2

27.Why is blood circulation in human heart called double circulation?

° Watch Video Solution

28. What is the advantage of having four chambered heart?

° Watch Video Solution

29. Mention the major events during photosynthesis.

° Watch Video Solution

30. In each of the following situations what happens to the rate of
photosynthesis ?
(a) Cloudy days , No rainfall in the area

( ¢) Good manuring in the area, (d) Stomata get blocked due to dust


https://dl.doubtnut.com/l/_58wnh8PvdOc2
https://dl.doubtnut.com/l/_LBthQCU6X9AP
https://dl.doubtnut.com/l/_LfAOJcBsOWu3
https://dl.doubtnut.com/l/_EevQ02ijc93z
https://dl.doubtnut.com/l/_GI720sCdlTVL

A. Cloudy days

B. No rainfall in the area

C. Good manuring in the area

D. Stomata get blocked due to dust

Answer:

° Watch Video Solution

31. Name the energy currency in the living organisms .When and where is

it produced ?

° Watch Video Solution

32. What is common for Cuscuta,ticks and leeches ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GI720sCdlTVL
https://dl.doubtnut.com/l/_JjoDMUKYiWcW
https://dl.doubtnut.com/l/_ILgDscwNlzTV
https://dl.doubtnut.com/l/_thfp4xWT7C9F

33. Explain the role of mouth in digestion of food.

° Watch Video Solution

34. What are the functions of gastric glands present in the wall of the

stomach?

o Watch Video Solution

35. Match the terms in Column (A) with those in Column (B)

‘A Trypsin () | Pancreas

B Amylse | (i) | Liver
C | Bile (i) | Gastrie glands
D | Pepsin V) | Saliva

° Watch Video Solution



https://dl.doubtnut.com/l/_thfp4xWT7C9F
https://dl.doubtnut.com/l/_IhSQwxCBolFo
https://dl.doubtnut.com/l/_WZ7rLhqeMMwH

36. Name the correct substrates for the following enzymes

(@) Trypsin , (b) Amylase

(c) Pepsin, (d) Lipase

A. Trypsin

B. Amylase

C. Pepsin

D. Lipase.

Answer:

o Watch Video Solution

37.Why do veins have thin walls as compared to arteries ?

o Watch Video Solution

38. What will happen if platelets were absent in the blood ?


https://dl.doubtnut.com/l/_781vFfp8aoB2
https://dl.doubtnut.com/l/_XbMKUpwt3RIm
https://dl.doubtnut.com/l/_VFZXvBt9TR6j

° Watch Video Solution

39. plants have low energy need as compared to animals. Explain.

° Watch Video Solution

40. Why and how does water enter continuously into the root xylem ?

° Watch Video Solution

41. Why is transpiration important for plants ?

A. It helps in absorption and upward movement of water and minerals

from roots to leaves.

B.It helps in creating a transpiration pull which allows upward

movement of water in xylem

C. It prevents the plant parts from heating up.



https://dl.doubtnut.com/l/_VFZXvBt9TR6j
https://dl.doubtnut.com/l/_WqOE2UuwpPJJ
https://dl.doubtnut.com/l/_Pz8axRvxgTsP
https://dl.doubtnut.com/l/_FlgfGU1andH5

D. All of the above

Answer: D

° Watch Video Solution

42. How do leaves of plants help in excretion ?

° Watch Video Solution

Ncert Exemplar Long Answer Questions


https://dl.doubtnut.com/l/_FlgfGU1andH5
https://dl.doubtnut.com/l/_56edJ4bNPrE1

1. Explain the process of nutrition in Amoeba.

Nucleus
Food particle

Pseudopodia

@ Food vacuole
“&'¥_Food particle

(d)

Nutrition in Amoeba


https://dl.doubtnut.com/l/_xjTn53Q62fYL

Amoeba is a unicellular animals which follows holozoic mode of nutrition
. The process of obtaining good by Amoeba is called phagocytosis .

The various steps involved in phagocytorsis.

(i)

° Watch Video Solution

2. Give an account of various parts of alimentary canal of man.

° Watch Video Solution

3. Explain the process of breathing in man .

° Watch Video Solution

4. Explain the importance of soil for plant growth.

° Watch Video Solution



https://dl.doubtnut.com/l/_xjTn53Q62fYL
https://dl.doubtnut.com/l/_8G2RUkv4vd66
https://dl.doubtnut.com/l/_STlRcJxnuuXU
https://dl.doubtnut.com/l/_3pZEz1qFdVO9
https://dl.doubtnut.com/l/_7sgkh10sRToR

5. Draw the diagram of alimentary canal of man and label the following
part.

Mouth, Oesophagus,Stomach,Intestine

° Watch Video Solution

6. (@) Name the main organs of the human digestive system. Also name
the associated glands
(b) How do carbohydrates, fats and proteins get digested in human

beings ?

° Watch Video Solution

7. Explain the mechanism of photosynthesis.

° Watch Video Solution



https://dl.doubtnut.com/l/_7sgkh10sRToR
https://dl.doubtnut.com/l/_OWH4ZzytB44f
https://dl.doubtnut.com/l/_iOT3yqLVCTUx

8. Explain the three pathways of breakdown in living organisms.

o Watch Video Solution

9. Describe the flown of blood through the heart of human beings.

o Watch Video Solution

10. Describe the process of urine formation in kidneys.

o Watch Video Solution

Board Corner Short Answer Type Questions

1. Write three types of blood vessels. Give one important feature of each.

° Watch Video Solution



https://dl.doubtnut.com/l/_PKo9dJeyHNlo
https://dl.doubtnut.com/l/_3Mp2RBO6Ye2v
https://dl.doubtnut.com/l/_n8Pn2cqFmDa7
https://dl.doubtnut.com/l/_DmLJ6BmCoH1H
https://dl.doubtnut.com/l/_8gW3RXFl81iS

2. Define the term transpiration. Design an experiment to demonstrate

this process.

° Watch Video Solution

3. (a) What a photosynthesis ?
(b) Write a chemical equation to show the process of photosynthesis in
plants.

(c) Explain the mechanism of photosynthesis

° Watch Video Solution

4. What are the differences between autotrophic nutrition and

heterotrophic nutrition?

° Watch Video Solution



https://dl.doubtnut.com/l/_8gW3RXFl81iS
https://dl.doubtnut.com/l/_ZjefOfejK8P3
https://dl.doubtnut.com/l/_na1Qflx8LJiy

5. What is transpiration? List its two functions.

o Watch Video Solution

6. What is translocation ? Why is it essential for plants?

o Watch Video Solution

7.Where do the substances in plants reach as a result of traslocation?

o Watch Video Solution

8. List two types of the transport system in human beings and write the

functions of any one of these.

o Watch Video Solution



https://dl.doubtnut.com/l/_NVzdM17PSOQ5
https://dl.doubtnut.com/l/_wRGDWfrYn2Nx
https://dl.doubtnut.com/l/_agUWRMkOVdLO
https://dl.doubtnut.com/l/_v8TWpPkQPrcq

Board Corner Long Answer Type Questions

1. (a) Mention any two components of blood.

(b) Trace the movement of oxygenated blood in the body.

(c) Write the function of valves present in between atria and ventricles.
(d ) Write one structural difference between the composition of artery

and veins.

° Watch Video Solution

2. (a)Define excretion.

(b) Name the basic filtration unit present in the kidney.

(c ) Draw excretory system in human beings amd label the following
organs excretory system which perform following functions:

(i) form urine.

(ii) is a long tube which collects unrine from kidney.

(iii) Store urine until it is passed out.

o Watch Video Solution



https://dl.doubtnut.com/l/_wAH9f6NVCUWb
https://dl.doubtnut.com/l/_ckMVIeMh90DD



https://dl.doubtnut.com/l/_ckMVIeMh90DD

